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THE OPEN UNIVERSITY OF SRI LANKA

BACHELOR OF MANAGEMENT STUDIES DEGREE PROGRAMME - LEVEL 3
FINAL EXAMINATIOAN —2017

MICRO ECONOMICS - MCU1205

DURATION - THREE (03) HOURS

DATE: 08.08.2017 TIME: 1.30 PM - 4.30 PM

INSTRUCTIONS

Answer “Part A’ and any three questions from “Part B”
PART-A

01. Do you “agree “or “Disagree” with the following statements? Explain your answer. Use

illustrations where possible.
(1) As a BMS student you are not required to incur any opportunity cost.

(ii)  There is a negative relationship between the price of a product and the quantity

supplied, according to the law of demand.

(iii)  The government imposes maximum price to protect consumers.

(iv)  When the tax is imposed on an inelastic product the larger portion of it has to be
borne by the consumer.

(v) When the demand is elastic for a product a fifteen percent change in price leads to

less than fifteen percent change in quantity demanded.
(vi)  The revenue form an elastic product can be increased by increasing its price.
(vii)  The downward sloping linear demand curve has the same elasticities along the
curve.
(viii) Decrease in the price of a good will increase the demand for its substitutes.
(ix)  Basic economic problems are faced only by the poorer countries of the world.
(x) If the production possibility curve is convex to the origin, it means that the

Opportunity cost is decreasing.

(10 x 4 marks = 40)



PART -B

2. (a) Do you “agree” or “disagree” with the following statement. Explain your answer using

illustrations where possible.

(). As the output increases average total cost (ATC) also increases.
(ii).  Implicit cost is not included when calculating economic profit.
(iii).  Shutdown point is reached when total revenue is equal to total cost.

(3 x 4 marks =12)

(b) Consider the short run cost function of a firm given below.

Output | Total Total Total Cost | AV AV AV Marginal
Fixed Variable (TC) Fixed Variable | Total Cost
Cost(TFC) | Cost (TVC) Cost Cost Cost MCOC)

(AFC) (AVCQ) (ATO)
0 240 240
1 280
2 312
3 336
4 372
5 420
6 474
7 546
8 640
Fill in the table (08 Marks)

(03)  Explain whether following statements are true; or false using illustrations.

(i) Demand curve of monopolistically competitive firm is more elastic than the

demand curve of a monopoly.
(ii) The rice market in Sri Lanka is perfectly competitive.

(iii)  Firms that operate in oligopolistic market use non price competition to compete

with the rivals firms.
(iv)  Monopolist maximizes its profit where it’s MR = 0
(v). “P=D=AR=MR” denotes the demand curve of a monopoly firm.

(5 x 4 marks = 20)




(04).

(05).

(b).

What are the major factors that distinguish different types of markets in the real
World? Explain. (10 marks)

Explain the barriers to entry that exist in monopoly market.

(10 marks)
Providing examples differentiate the followings.
(i). - Short run and Long run production. (04 marks)
(i).  ISO cost curve and ISO quant curve (04 marks)

Consider the Short run production function given below.

Qa TPL | APL | MPL
0 0 0 0

1 10

2 26

3 48

4 62

5 75

6 84

7 84

8 80

TPL— Total Product of Labor
APL — Average Product of Labor
MPy, — Marginal Product of Labor

().

(ii).

Fill in the table and identify the stages of production. Using illustrations explain

your answer. (06 marks)

Explain the relationship between Average Revenue (AR) and Marginal Revenue

(MR) (06 marks)

-Rights Reserved-
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iX.

BMS wremeauprdlw prisst g8send owwwws  QFeveney  (opportunity cost)
OgevailL. Geusmniguig @eLemsv.

Cxerall aldulett (Law of demand) Ly eflewev, 2 musA Quimst  eebinfe
aflemev  wB@Id  ARCWIASBUL L. sieenllEmeseT  opdwsumealen Gw
agiseniiu QHTLY 2 _sieng.

SFTRIGL EHISTCuTenTl LTHSTUUSBETS 2 & Ww ellsnevenuws alldldalamal.

OpalpFFwbn o Busbdl Qurmst (inelastic product) geiipfieir gy euflQuiTeim)
al@daiupl  Curg, oise Qumd uGHomw HBTCaTT SThdd CQrsien
GousntiBLD.

o _Busg  Qurmet  geafie  Bsele] RS DFALTEMNBEGL Curs, DB
aflemeoullsd  uFlewenbad 6fn  IBmOWTED,  GseiteNuilel  eremienldenBUTEd
ugleosibal fHHme efiLald GempeTes LIBBSADBG BBF CFeddlama.

Op&pFd o muskss) Oummefledl  QUBLOTEISHMSH, BT ellensvenul
PSS, DSHSHULHLWF QFuILISOTLD.

& Cpradlw sflefenens Qsnswi@eien Cri Caml @ Bssitad euemenul (downward
sloping linear demand), oiBa&1 eusmenul omine 8y ORSpPFHwws
OBIewiTQHEEHLD.

® MusHg  QuTEmOenreiflett  eflemey GHOMBHL,  DiFHHT  UNSHBEHEHSTET
Coemeausemsn SiFHsflEeELb.

SliguenL it QurgenrHIgl  LIFFFleneiisendE 2 6086  aUDIDIOWITe  HTBE6T
L GO (e CETHoHSEme.

2 _muss srhHw euewenull (production possibility curve) epevsHie@ (origin)
GNbHBTHBHSHTEO, DiFH DMLWF  QFevey &EJwid  GmDEEIDE  6Teol
QuITmeTUGBLD. (10 x 4 yeneflest = 40)
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QausluiBssnt osflea@d Gural, sgrefl Qursss Sywepb (average total cost) &al
SR &b TME.

QUTmENTHTY @eoTUSMSHS SauEAGL Burd, o eienthg  &Sgwid  (implicit cost)
2 _eienL_S&lnBaudleLsnev.

QTHs aumoTaID, Orhsd AFusHDE Fowreb BGurgl, amisbd wWEH Hmevamw
SIENL_ BB (03 x 04 usheflmenr = 12)

&0 SyL_Beiten BpIeUETQTEI GUIBSTE SHILSHmSs &MHSHHCHHEBLD

Qeueflui® | Cord s Qurgs | Owrss | Fgrafl grngfl | Fgraifl 616060608
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@eonimasuls  oifldE  shme  Heomeuren  Gumiiuiemend  (perfectly competitive)
Qe Been ).
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Gumiigui. eflensoullsveonts Gumigenwil (non price competition) LWIEILGSHSHISIEIG6N.
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TP, APL MPL
0 0 0
10 -

26
48
62
75
84
84
80

©w

RNW[ N[N AW —=]O|I0

TPL- Guorgs 2 _enpliy 2_muga)
APL - ggnefl o ey 2 _Buss)

MPL - o_empliy 2 _Bushs) er60eme0

)] SLLauewemenwll  IYisd OFlieugi &1, 2 BubdHule SLLBIGmeTUD  Ged
BT, UMTUL Mibemenll UWTLBSHS o miseflsr ellenLenw elendds.
(06 yeiterilaeir)
(i) ggmefl eumwomend (AR), eevemev eumwmemd (MR) gyawenbniléaenL Guiujsiien
CarLienu ellend @ . (06 Lsiieflseir)
(LBl yflepousent_ wig))




